625/Phil UG/6th Sem/PHIL-H-CCST-14/23

U.G. 6th Semester Examination - 2023

PHILOSOPHY

[HONOURS)|
Course Code : PHIL-H-CC-T-14

(Western Metaphysics)
Full Marks : 60 Time : 25 Hours
The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in their
own words as far as practicable.

1. Answer any ten questions: 2x10=20
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a)  What is Solipsism?
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Which doctrines are expressed through the
following sentences”
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i)  To be is to be perceived.
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ii) To be is to be perceivable.
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How is the verb “see” used in the following

sentence?
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I see a tree (assume that there is one).
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“Matter is the permanent possibility of

sensation.” Who said this?
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What is an innate idea? Give an example.
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Why is the Representative Realism called the
Iron Curtain Theory?
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Why do the phenomenalist consider the term
‘sense data’ preferable to ideas, sense

experience, and sensation?
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How is the word “must” used in the following
examples?
e (Reefis “oa” @ @i e A sl
IS ACR?
i)  Youmust do as you are told or you will be
punished.
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ii)  In order to catch a walrus, there must first

be a walrus.
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i)  Can chance be accepted as evidence of inter-

determinism?
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“Universal are nothing but names.”—Who is the

exponent of this theory?
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How will a phenomenalist translate the following

sentence?
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The table exists in the next room.
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What is self-determinism?
Ffegraeam 2

What is phenomenalism?
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What is naive realism?
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What is weak idealism?
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2. Answer any four questions:
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Distinguish between necessary condition and

sufficient condition with at least one example
of each one.,
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What is cause? Discuss some of the important

characteristics of cause.
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Make a distinction between the nominalistic and

conceptualistic theory of Universal.
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Expl\ain briefly the double-aspect theory of

Spinoza.
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In what sense, mental events are different from ;

physical events — briefly discuss after Hospers.
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Answer any two questions:

What are the differences between causa|

necessity and logical necessity?
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Explain and examine Plato’s theory of

Universal. In what respects Aristotle’s view of
Universal differs from Plato.
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Explain and examine the view that mental states

are identical with certain physical states of the
brain.
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What do you mean by determinism? 15 it
identical with fatalism? Whether it is compatible
with freedom? Discuss.

Frgeram aoce & caram % wwam fa wRane

mmrﬁvmwhwnmm-ﬁh
A ¥

(6]

A

Is the principle of causality apriori or
aposteriori? Discuss after Hospers.
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